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Relagao do aco

V1 V2 V3
V4 V5 V6
V7 V8 V9
V10 V11 V12
V13 V14
ACO N DIAM Q UNIT C.TOTAL
(cm) (cm)
CA60 1 5.0 2 713 1426
2 5.0 152 82 12464
3 5.0 140 102 14280
4 5.0 30 132 3960
5 50 8 128 10496
6 5.0 17 138 2346
CA50 7 6.3 3 87 261
8 6.3 2 92 184
9 6.3 1 90 90
10 6.3 6 130 780
11 8.0 2 1093 2186
12 8.0 2 499 998
13 8.0 2 557 1114
14 8.0 2 102 204
15 8.0 2 241 482
16 8.0 6 417 2502
17 8.0 2 467 934
18 8.0 2 386 772
19 8.0 3 153 459
20 8.0 4 121 484
21 8.0 4 162 648
22 8.0 2 115 230
23 8.0 2 634 1268
24 8.0 2 781 1562
25 8.0 2 288 576
26 8.0 2 322 644
27 8.0 2 207 414
28 8.0 2 257 514
29 100 2 489 978
30 100 2 436 872
31 10.0 1 152 152
32 10.0 3 481 1443
33 100 2 398 796
34 10.0 2 930 1860
35 10.0 2 457 914
36 100 1175 175
37 10.0 1 170 170
38 10.0 1 129 129
39 100 2 1198 2396
40 10.0 2 218 436
41 10.0 2 374 748
42 12.5 2 728 1456
43 12.5 2 309 618
44 12.5 2 385 770
45 12.5 1 205 205
46 12.5 2 720 1440
47 12.5 2 713 1426
48 125 1 168 168
49 12.5 1 233 233
50 12.5 3 638 1914
51 12.5 1 181 181
52 12.5 2 261 522
53 12.5 3 648 1944
54 12.5 1 157 157
55 125 3 466 1398
56 12.5 1 189 189
57 12.5 1 184 184
58 12.5 1 245 245
59 12.5 1 249 249
60 125 2 464 928
Resumo do acgo
ACO DIAM C.TOTAL PESO + 10 %
(m) (kg)
CA50 6.3 13.2 35
8.0 160 69.4
10.0 110.7 75.1
12.5 142.3 150.8
CA60 5.0 4498 76.2
PESO TOTAL
CA50 29838
CA60 76.2

Vol. de concreto total (C-25) = 5.5 m?
Area de forma total = 80.4 m?
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